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12.

Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 75 objective type questions. Each question

will carry ¢twomarks. A//questions of Paper-I1I will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

(1) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(i) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(11) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.
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Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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Journalism and Mass Communication

Paper III

TARIRAT 3T SHEER
PEECIECAEIN

Time Allowed : 2% Hours]

Note : This paper contains Seventy Five (75) multiple choice questions. Each

[Maximum Marks : 150

question carries Two (2) marks. Attempt Al/ questions.

U Sed. @d U G

AT ¢ A TRAUCThA THYT el (75) sgadrt Tee fo ofed. g TR g (2)

Which of the following is the most
appropriate method to study the
nuances of gate-keeping process
that shapes news selection and
presentation in a typical news
room ?

(A) Survey of readers
(B) Field observation
(C) Content analysis of news
(D) Semiotic analysis of news

‘Attribution’ in journalism jargon
means :
(A) Telling readers where the

information in a news story
comes from

(B) Telling readers the source who
does not want to be identified

(C) Acknowledgement of reporter

(D) When editor becomes a reporter
for a news story

aaHEl ae 9 9edsivmer Jae
2RI HUTeeh 19 oYMt graTe fHere
gfsran 3T =il dIReRe = 9eneE
HLUTES! Eelciueh! hivd Tgd Faid
qArg AR’ ?

(A) AR Ho&yur

(B) &=ita e

(C) aa=r e fargasmor

(D) waere fagemetg favers
TeAehTcea aRwmed  sffeege’ A oSt
Yehoaa=n A T

(A) ardHidre Hifgdt shied el ar=h

ARl Shedl <0l

(B) 3TUcll 3T 39S B3 -9 3™

AEO=AT B ATfed! STaeh=T <ol

= aoN

(C) TAHNET Sdall Tddl <ed

(D) 3THURE TERN JAGRRAl THhR
oA TRl et

[P.T.O.



4.

Kiran Karnik, a prominent Indian
Telecom and media expert oversaw
the launch of the following channel

in South Asia :

(A) National Geographic

(B) Discovery

(C) History

(D) TLC

A pejorative term that refers to
supporting or promoting of a cause

exclusively through online

activism :

(A) Civil Disobedience

(B) Litigation

(C) Plagiarism

(D) Armchair activism
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ARATIE TSI SR S0 Hreawag
feR 0T ShivTeh TT=AT ARIGEHTEITG JEieTueh!
I FTfgAr=a1 STeToT ST
JAYUTE Feard el 2

(A) e fSismnfhe
(B) femrsedt
(C) fe=d

D) 1. H

TG TR o HHE=A1 Qe Sga

SRl Shded Seieeal HIEAHIH

NN N

SEECA Hiqeiieidal o &R

STeh HehoUdd Tagel Sq 2
(A) G FHERY

(B) <ra

(C) arEmI=

FaSELY

(D) STRHET HiceTad




The concept ‘Agency’ from sociology
also used in cultural studies refers

to :

(A) The question about whether
individuals act independently

or are acted upon

(B) The way in which the media set

public agendas of debate

(C) A term loosely used to describe

angst

(D) Mediation between editor of the

newspaper and reporter

The encoding/decoding model of
communication was first developed
by which of the following

scholars ?

(A) Stuart Hall

(B) John Fiske

(C) Michel Foucault

(D) George Gerbner

JAN - 19318/TI1—C
THSETS 8T Gl
IR SO Tt Heheq=n 31ed

T ?

(A) <reh TIUfld 9dE st aRa

I GIAra=

(B) HIeHM= ST WI=Ishd qem ==t
ST SV Tt

(C) YA STEIEae HIEmgut
TG Fehed T

(D) HUEeh 3T FAU== arared AHEe
BEIRISE]

G Feh/fawaur gfame v
A foehfdd et ?

(A) W& 2

(B) w4 fhen

(C) fRe wH

(D) SISt TeTY

[P.T.O.



The first Marathi fortnightly
newspaper was bilingual. In which

two languages did the newspaper

publish ?

(A) Marathi and Gujarati
(B) Marathi and English
(C) Marathi and Konkani
(D) Marathi and Portuguese

In implementing public relations
plan which of the following public

relations practitioners do first ?

(A) Send as many press releases as

possible to as many people

(B) Determine which media outlets

best serve their purpose

(C) Art editors to promise to use

their press releases

(D) Find out which media have
been most friendly to their

client in the past
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(A) e fagen 99 el e1fementfeen

SIEARIIRICIERIN

(B) e g FEI TN 3Ted ATl
1B IR
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9.

10.

A research design that does not
involve random assignment of

subjects to experimental groups is

called :

(A) Controlled experiment
(B) Semi-random experiment
(C) Quasi-experiment

(D) Neo-quasi experiment

“Although media is an industry, it
is not just any other industry or
business.” Which of the following
reason provides the best explanation

of the statement ?

(A) Media is a very capital intensive

industry

(B) Media products have a strong
public dimension in production

and consumption

(C) Media ownership gets

concentrated in fewer hands

(D) Media products are primarily
meant for immediate
entertainment

10.

JAN - 19318/III—C

HINYH STES], SgHed gfagreshi=
Aok TG TATNEHE AU shedl

Sd AR A R Wed a2

(A) ff@ w&@m

(B) A¢AGIs® TAN
(C) fHyrIfiTR

(D) FatM =M

"1 B T SENT STECT Ol O ST
3 SHI0TTE! & TEl | gEeTdeh! hivrd
FHROT SR FAHH Fald A T leho
qd ?

(A) TeEH N gUu iead artd

(B) fafddt sufor 3w srom <=
qrdesliay AILTH IARATAT Teh
AT 3T FrelsTTeh fedran ST
Tl

(C) HILIHT=T HIART B HHT STUhe

Tehded wId

(D) TEEH=A SCARATE Y& &4 Alehied

ARSI STl
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11.

12.

What sort of sources should

journalists look for ?

(A) A variety of sources

representing different opinions

(B) Close friends and relatives

(C) Officials who win expert some

favour in return

(D) Officials with whom the
journalist has a close personal

relation

According to Manuel Castells, in a
network society, communications

technologies allow for what ?
(A) Annihilation of space
asychronous

(B) Rapid and

communication

(C) Changes the relation to time

(D) All of the above

11.

12.
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TARRA HIed THRSAT  HAIhs

S ?

(A) dTeTE A FHeT fafas i

(B) Sa&id 7 9 Fead

(C) 378 SAfYehIl S Hifec=a1 HegedT=
JUET SHL

(D) 41 AR AR SIS Horel
R,

T3 HECITHR 2o HErel’ 79

SEICEEGERIRIGE IR CE I
(A) FFHE T Bl

(B) Sefe 31 SshfHa EroH
(C) ShIBRf A sgeld

(D) afe wd 9a=




13.

14.

15.

Which of the following is a short
term unplanned effect in the
typology of media effects ?

(A) Media campaign

(B) Collective reaction
(C) Development diffusion
(D) Socialization

Which of the following dimensions
does not guide the dominant
paradigm of development
communication ?

(A) Capitalism
(B) Counter-culture
(C) Modernization
(D) Surveillance

Publication of wrong or incorrect
map is a very serious offence because
it adversely affects the territorial
integrity of the country. What
should a media enterprise do in such
a case according to the Press Council
of India ?

(A)
(B)

Apologise only

Promptly and prominently
retract with regrets

()

It is part of freedom of speech
and expression so nothing
should be done

(D) Write to the ministry of

information and broadcasting

13.

14.

15.
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TTEAH RO SR Ul SR
TR SRIVAT STEaHGdEl AT
RO STl ?
(A) FIEEHEE TERHIEH
(B) grfeesr gfdfsman
(C) foshrame sty
(D) HHISTeR TR
qEcTieh] ShivTal RHTo/STEH  fashmd
T Jeenfua foemRegEt g
A& ?
(A) TS
(B) Well-H&pelt
(C) smyfeRar
(D) weE

ST AITifesh  STEEda ThRIcHS
TRETT Bl WU QT RN R
BY . Y Herd T HEH TN
FHS Y Y hi-aa i shear worm
e ?

(A) Hde HHI AT

(B) @Rd o1 3esehqul AR =&l o
IRt HRTET

(C) AR TT==T 9 AT S
TR HE T

(D) Hifgdl 9 YHRY HATAATAT FHeddTd

[P.T.O.



16.

17.

18.

Who among the following is known

as the father of public relation ?
(A) dJoseph Goebbels

(B) Adolf Hitler

(C) Edward Bernays

(D) Wilbur Schramm

Who first translated Bhagvad Gita

into English ?

(A) Charles Wilkins
(B) Macaulay

(C) William Jones
(D) Lord Bentington

Which one of the following is warm

colour ?

(A) Blue

(B) Green

(C) Red-orange

(D) Blue-violet

16.

17.

18.
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EEATIeh! HIVTE SAHYh =T ST T

HEge S| ?
(A) S TEe
(B) 3felew feeer
(C) Teae =y
(D) foesr &m™

TAATAal SIS STIAE FAULH hIof
e ?

(A) = fafen
(B) Hehlct

(C) faeom g
(D) @i sfered

TCAeueh! IOl T 30 TR ?
(A) e

(B) f&wan

(C) wreA—r

(D) Tree-<TTea

10



19.

20.

Who among the following is
known as the pioneer of Hindi

journalism ?

(A) Ganga Kishore Bhattacharya

(B) Baburao Vishnu Paradkar

(C) Prem Chand

(D) Madhav Sapre

“When you have two competing
theories that make exactly the same
predictions, the simpler one is
better.” This approach is termed

as :

(A) Surveying

(B) Parsimony

(C) Levelling

(D) Disharmony

19.

20.
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o~

CIINEEARE A IR AR EED

SERSRET
weed S ?

(A) M fReiR e

(B) guE foe] qreet

(C) WA=

(D) Ho g Ty

Y SaEl THETFHR §F Jeded ST
T} HH fshuia STeTS gdata S&ard

2] e = 1o M 1 e 1 5 -l 1 s | R

gfehMY h1d wUa ?

(A) HRfIT

(B) wifEHH

(C) wrefam

(D) fewgmt

11
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21.

22.

Media advocates have to rely on
journalist working in commercial
media organisations. How does this

constrain their abilities ?

(A) It constrains their ability to
reach policy makers and citizen
because commercial media have

their own agenda

(B) It constrains their ability

because  journalists in
commercial media ask for

money

(C) It contains their ability because
commercial media only look for

profit from content

(D) It constrains their ability
because media advocates are

poor

What is meant by balance in a news
story ?

(A)

Giving the same amount of

space to every paragraph

(B)

Getting a lawyer’s opinion

before writing an article

(®)

Having several authors write a

story

(D)

Covering all sides of an issue

as fairly as possible

21.

22.
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ey ST SATaR JIeqH GEmme

Aes ATATA H3al e I ?

(A) A H1Eam FEE1 WA A TSel
STEAT SqHes RV VR 30T
It Fr=Eadd WEiEdr a4q

EIE]
(B) AU HIeAH T Tk O

HITATA

(C) AT H1eam e §el fao™iqd T

hHEUIET foaR dd

(D) #eEH SAfeeedr T 9

A THAd TE0 BN w2
(A) 3% TR=ERIel AREE S Qo

(B) oTaHt fAsm=an TR aehiara Ad
ooy

o

feTg

(C) TER! SIHT 3Tk Ieehicher

B0

(D) TEmR fawEm=n w6 o =ArAuo
High

12
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23. Sopt the odd one out : 23. AMA@ YHA @l
(A) Zomato (A) FHa
(B) Ola (B) el
(C) Uber (C) 3K
(D) Meru D) &

24. Name the media effect research | 24. wheh SIf=A=al TR FOM=AT &I
which claims that people gradually SATATAT Tesoedl arqe FHS[A ATl
come to accept to view of world as THIHR A, 3T FIqUE HLOA1 HIeqH
portrayed on television as a true TRy A TE fore e
representation of reality : (A) Bfreyre SAfafag (ke fagam)
(A) Motivational analysis (B) S ffHAfas (F-a= farermn)
(B) Discourse analysis (C) Tesgam ey (gva-faverom)
(C) Visual analysis (D) Fedaer SHfafas (Fepdem
(D) Cultivation analysis fergeToron)

25. In the year 2003-2004, the Hutton | 25. % 2003-2004 H& g HiHdH T
enquiry survey initiated a news e Rfaur Sedfaeg stfas o
organisation of unethical practice. FoEEd AR e, e e
Which of the following was the news R e
organisation ?

A) ST
(A) CNN (A) HEE
(B) BBC (B) <&,
(C) Fox News (C) i =S
(D) CNBC (D) A
13 [P.T.O.



26.

27.

Identify the wrong statement from
at the statements given below :

(A) Visual radio is a convergent
technology that combines FM
radio with mobile phone

(B) Worldspace was the first private
satellite radio platform set up
in India

DAB (Digital Audio Broad-
casting) was introduced in AIR
in mid 1990’s

(D) The Chanda
recommended a review of Vividh
Bharti
innovative and experimental

(®)

committee

to make it more

‘A film studio owing a cinema hall
chain’ and ‘a leading national
newspaper buying out another

national newspaper’ are examples
of :

(A) Vertical
ownership

concentration of

(B)

Horizontal concentration of
ownership

(C) Vertical
concentration of ownership

and Horizontal

respectively

(D) Horizontal and vertical

concentration of ownership
respectively

26.

27.
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el gehid faum & ?
(A) TEI-A@ Th. . FErof sfor

qiaEel B I Teh{AhRI0 HI0R

THTfcqsh T ST
(B) dee€id § WRAW LTI SATcicl! JoH
TS ST AETN 3T

(C) Sl.u.st. (AR &g+ ggRT)
TR WK 3T e TSN
A CIThTA HEATd hedl

(D) fafay wrdra o ifess eyl
TN YTAfTeh ShivaTehar fa=m sTermn
QU YAl Hel Wi et

‘wEmen fesdetHd e faedee=n

IS al Aeteht fHeafan’ 9 ‘ weht T

FATH TR T Ia9s faeha =07’ &

I IS0 AR 2

(A) HAh! Tehaeuare] S+t gfsman

(B) HIcTeh! ThauaT=] 3Tl Wighan

(C) HIcTeh! Thaeuars] TgshH ST &

Aredt giehan

(D) HIcTeh! Thaeuarsl ST sH 3Tl o

30T gfewan

14



28.

29.

What is plagiarism ?

(A) Making up quotations or

sources for a news story

(B) Taking someone else’s words or
ideas and passing them off as

one’s own

()

Pretending to be someone other
than a reporter to get an

interview

(D) Accepting gifts or bribes from

sources

In research, a combination of
concepts that is created to describe

specific situation is called :

(A) Abstract

(B) Construct

(C) Aim

(D) Hypothesis

28.

29.
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JEHIEE TS w7

(A) TEREN SAHEER! faam fher Bd Tar

HL0

(B) 39AM v, foOR @d:a ®/UA
[Ty

(C) @R qared Hafauamer s mao
TEE WO ST 9

HLO

(D) Hdieed Heaw] fhar @/ =0

Heiemra fafere gftfeerden sofHmeR
Hhetean fafay Feearen el &E

TV ?

(A) e (HN)

(B) ®&FR (UfEnH)
(C) @ (&)

(D) Tl (31gam)

15

[P.T.O.



30.

31.

When should a reporter publish a
rumour that a public official has
illicit sexual

engaged in an

relationship ?

(A)

Immediately before any other

news organization does it

(B) Only after the rumour has been
confirmed as true and its has

some news value

(C) If the source of the remour is

reputable

(D) Never publish such a story

In the context of history of television
in India, identify the incorrect pair

from the following :
(A) 1970s—Beginning of TV

(B) 1980s—Beginning of colour

transmission

(C) 1990s—Spread of private

channels

(D) 2000s—Beginning of direct to

home TV transmission

30.

31.
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e

NINE?

TEe] TaSieh SEhrl STfaeh

Y S 3 TR 3T ST hegl
EEAIRGCC I

(A) HITIE A HEEH BIATUITAT STIEL
@R

(B) 3Tthenl Tt 311 301 Tial STl Je
e W YSdeg] difeee

(C) ST he™ ®q Hfdfted 38 ™

(D) i sraHt =g T

AITitel qfersremofi=a sfasdrean gevid

TTeAedeh! IV SISl e 3T ?

(A) 1970 = Th—gIersraruii=l Feard

(B) 1980 ¥ TIH—IIMA FHRO=T
Heam

(C) 1990 ¥ Trh—Emerft gf==arft
Fiferan TER

(D) 2000 = TIF—SRRE 2 B .54
JHRM= Geard

16



32. In shooting, an optical movement

called ‘zoom’ is to some extent similar

JAN - 19318/III—C

32. fosfiRtommed, ‘gm’ W SEiRd

gleTaTeieal Rl AT JHIUNG FHGYH

to which of the following physical ST S HE! FeEiel gerare] ﬂéﬁﬁﬁlﬁ
camera movement ? RO ?
(A) Dolly (A) et
(B) Tilt (B) fee
(C) Pan (C) A
(D) Track D) <&
33. Which of the following is not among | 33 g w1 fgcr= [RECURGIEC SR EED]
the basic elements of investigative .
! rnvestigatly FoAl INHTIARINAAT Feh A& ?
reporting laid down by the Press
Council of India ? (A) T fos™ Aesie fearen emfn
(A) The subject should be of public SR HIGA! STHOI STEH 3TE
importance for the reader to STETET
know
(B) ¥hem=n fowa w1 o9
(B) The subject should be true
(C) An attempt is being made to (C) QBT FAET 1T A9
hide the truth from the people ST YIS B STHEl
(D) It has to be the work of the (D) %M It @qS ST, ST
reporter, not of others he is A R
1o Aifedt fHesfactett =l
reporting
17 [P.T.O.



34. Which pair of media from the

35.

following has an extensive local

penetration and coverage ?

(A) Magazines and community

radio

(B) TV and Newspapers

()

Newspapers and Community

Radio

(D) Social Media and Community

Radio
Where is a ‘Likert Scale’ used ?

(A) For measuring strength of a

signal

(B) In research and statistical

analysis

(C) To determine length of a TV

programme

(D) In WhatsApp messaging

JAN - 19318/III—C

34. TSI hHIVT HIEAH SIS Tfeh

35.

TR Ao oot gaifies g ?

(A) wifges enfor FrHeTes THEmi

(B) el sffor ot

(C) Iaua 3TfoT HrHEIdeh ALt

(D) FHSHIEEH ST AT A

‘fod @ wE AR TR 2

(A) TR e HIsToATETSt

(B) HYNEATd TR fagersomes Rar

(C) IO HTAFRATE  HTATAEN

GICLRICATK |

(D) AfeHsTd TS FIRUMR R

18



36.

37.

Identify the incorrect pair of media
and its regulatory body in India from

the following :

(A) Newspaper—PCI

(B) News Channels—NBSA
(C) Film—CBFI

(D) Advertising—ASCI

In the context of research “SMOG

Grading” refers to :

(A) A measure of readability based
on the number of syllables per

word

(B)

Measuring the report/article

quantitatively for analysis

(C) It is name of codebook in

content analysis

(D) Checking reliability and

readability of respondent

36.

37.
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TRl Hqreay 3mfor e fames gwen

A WTeTR! 9o Siel Sf@en :
(A) AT .31

(B) Seeea—TA.o.Tq.T.

(C) Ta9e—1.91.T%. 379,

(D) TTEE—T. TH.HT.374.

TelYAr weHid ‘W IEh WU

EIR

(A) IS IRMA FATTHCITHAR

AN NN N N
AldAl4da™ opelel HiNA

(B) fayasrmmsfiar sigara/d =

TS (e ol AT

(C) AT faTeIouTdiel et GehadTiciehd

1

yfaaesmt  fovamEa  enfor
areEEar Il qurdo

(D)

19

[P.T.O.



38.

39.

Bernard Cohen observed that the
media may not be successful much
of the time in feeling people. What
to think, but it is stunningly
successful in telling audiences what
to think about. What is this theory

called ?

(A) Agenda setting

(B) Public relations

(C) Cultivation

(D) Media effects

In research, a single question in a
questionnaire that requires two

separate responses is called :

(A) Double barreled question

(B) Double blind experiment

(C) Dummy variable

(D) Deception

38.

39.
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IJATE Higd 7 HWdA 1 AR hI

foaR e & AT BREN I9Ret Bid

IR ERSIEIR I MIEIERREE LECTIEL
T RTOAIG A HIEHMT STA9a 491 fHead.

I YA T AE AR ?
(A) srrer Ffen

(B) dfseter e

(C) wicess™

(D) wifean shaed

TN, GO ThT YT
SAUHIAT SR S AT gl
ARl YEd 3THE, dX TR WA

T WU 7

(A) TIA dos FATT

(B) TSI =38 THHUHE

(C) eHt =uaa
(D) fedwm
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40.

41.

What is a review ?
(A) An article about movies only

(B) Feedback a reporter get from his

editor

(C) An article that helps consumers
decide whether or not they
should buy a product

(D) An article that criticises

Which of the following is not a
correct statement in the context of

CBFC as a regulatory body in

India ?

(A) It is set up under Cinemato-
graphy Act (1952)
Cinematograph Rules (1958)

and

(B) It has a revising committee
which can take a second look at

the film

(C) CBFC issues four types of

certificates for film exhibition

(D) Once a certificate is issued by
CBFC, the film content cannot

be challenged in the court

40.

41.
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gHIARA BN R ?

(A) Haat fesveea o@

(B) TUGHhTHSA araieal fHarere

EINIER]

(C) 3T o <M TEhHl TERT a%]
faera =amet 1o AT & v S
DEG]

(D) TRl HO G

TRAMTA Teh Tomies §ee STaeied

‘Hretwdt = ewuid eieiish! i

faam 4rg foum o A& ?

(A) TEAHIUTT wEET (1952) &t
farenms frammEe (1958) =
TR 21 HE T e 3718

(B) foerder=n gAddeomamer gafierm
=it e H. S UE. . g o

(C) Tesraer=n yeeiEme &t e . €.
IR YhRET GHTTS <

(D) Tehel WLo.Um.E. 3 fosrgeren
eI gHOTOS fadd Rl crdra
AT, =TI IS ATl 3
Ri]
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42. In the context of audio-visual

production which of the technical
person is responsible for judging the
distance between the camera and a
subject and physically manipulating
the lens on the camera to keep

subject in focus ?

(A) Technical director

(B) Cinematographer

(C) Focus puller

(D) Continuity person

Instructions (Q. Nos. 43, 44 and 45) :

Read the following passage and

answer the next three questions :

Paul Roberts thinks a society that
wants it “now” is untenable.

According to Roberts the dangers

JAN - 19318/III—C

42. THAA FdHH HHER A, TR difew

e TS=arehe S SAfoT ST ardia

AT 37T S AT hlshaHed

ST STATEeR 3THd T SFekitedl Shid

w2

(A) difse feresien

(B)

(C) HIkT T

(D) g e

Gt (43, 44 T 45) :

I qfeess argd A T geE
SALET ¢

TS AT A=A HA AT IS T ehret
‘A’ B SR ITHI WHIS YRR R

Taeg= Td & U 1S 3Rd. T
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are many. “With each transaction
and upgrade, each device and click,
life moves closer to us and the world
becomes ‘our’ world. “Our society is
in the process of merging the self
with the market, he fear’s part of
this merger is involuntary. Google,
Apple, Facebook and Microsoft have
supplied consumer data to the
Government. Now the movements of
each person, all information of each
individual is available from the
beginning of life till the end. This
was possible because government
and market came together. However,
if we are being watched without our
knowledge and involuntarily then

we also have to admit that we also

JAN - 19318/III—C

FTENHN, AT 7R, T o€, T

foreteh X, ST 3T9edT Soies Id 37107

S A S . AT JHIS o

ST STSTR AT TR0l BISel hi hid

RN ofidt o o HIdd. I RIEl

o [aVaY o

IENIRICESRSIE

=51 B 318, T, 379,

Thudesh A AT AT 9T

ekl Hifgd! TLRREN GRIael 3T, ST

UcIesh STl WiTesl BieTaTedd, o=l 9dl

gt IqTeH 3Tg. SteTeA Gead e

q A, § TSd hRU TSR AT

TR Tehsl ST A S STICHER STae]

Tohodd STIUT 3MMgen 3T = o1&l 3

Sd AEA W gl H el Uigsl ohi

SAYUET T IAUE] IR HEA Sadier

we] A ATl STRIA. 79 T8l Sardel
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43.

use the same system to monitor the
lives of others. We are infant eager
to watch the lives of others. We are
thus bring our privacy and we are
providing the money, resources
ourselves. We have questioned our
privacy and to be a spectator of this

auction we pay.

Why is the process of the merger
of the self with the market

involuntary ?

(A)

Because we are disinterested

(B) Because Google etc. supply data
to government without our

knowledge

()

Because Paul Roberts says so

(D) Because it is necessary

43.
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ST SATIUT SR STHAL. I AW 907

SIS WSO e Sl SR
anfor =1 wisrdenm ammom e, Emes,
AYUE Yl AR AT ErsTii-
U UV Sfiere Hieal ST S

q e IRUEEel S 98 Hietd

TR

AT Tca SfUT STeR I ferefi=enor

AT & B 3T ?

(A) SR ATTTTAT ad & ARl

(B) RO T[T TAGT SATel Hifed
MY Tehesd TRl T

Sl

(C) &R Ui Jadd T8 ol

(D) RO d AEITHR 3T
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44.

How does Government have all data

about individuals ?

(A) Because Google supplied

consumer data to government

(B) Because government controls

media

(C) Because government and

market come together

(D) Because market and corporate

come together

44.
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THRDHS HFFIAEdd] G901 Hfed! hei
I ?

(A) RO TFTA I TTgehi=l Alfedt

TRI <l

(B) hRU RS HIEIHER =107 3Tred

(C) SR THR M0 ISR ThAd
S|

(D) RO Hehe 3T HiURS Tehidd
K|

45. According to Paul Roberts what are | 45 dfq '{Taégagn 3] I LA S
we eager to do now and what are 3R sTrfor FCITE@ MUY T gLl
we losing as a result ? e ?

(A) We are eager to watch the lives (A) I TE=T SOl SEUAE e
of others and losing our privacy SR RO ST TS o Fedr
as a result TN

(B) We are losing knowledge and (B) &T9UT F EXAQ! SATRIT AT
involuntarily losing our privacy

(C) We are losing privacy and are

¢ i knowled (C) 3901 ST WISIT0T BLefdl SRl
eager to gain knowledge R
o 9 fHesavaE g+ TR
(D) We are eager to get information .
& & (D) 3T SE-ATATETS Hifgdt fHesfavare
about others and losing our 5 & S A
privacy cerdl sl
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46.

47.

“Men look, women appear.” All mass
media objectifies women. Which
media theorist introduced us to this

phenomenon ?

(A) Marshall McLuhan
(B) Ian Van Djik

(C) John Berger

(D) Neil Postman

Which of the following statements
is not a correct description about the

regime of internet regulation ?

(A) Internet is a very easy medium
to regulate within national
jurisdiction

(B) Much of burden of internet

regulation falls on internet

service providers

(C) national and

bodies

Multiple
international are

incorporated in Internet

regulation

(D) Much of internet developed in
a spirit of defacto freedom from

control

46.
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“qeE qed, e fogda. ! weg

SR FER TR A e
FHIT HIEAH Wb HAYLH ST
L dH ?

(A) HARiel Hereed

(B) I = fesieh

(C) S ssi

(D) el v

geald awaT=a Tevld Eeierdeht
o fau™ 9ra 9uF 3@ e ?

(A) 3T & U= AFhed o

HLOITEST 3T HU ATIH 318

(B) S THamAR=T sfi==i STeeer

el a1 JESRNER I3 Ied

(C) e Framms) s=ame T amfor

(D)

gelAcal dgdeh foehte FE=Iomar

STeTessToles Hekil TR dccalToAl JeTel-

@Al e
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48.

49.

What is the difference between libel

and slander ?

(A) Libel is written and slander is

oral untrue defamatory

statement

(B) Libel is oral and slander is
written untrue defamatory

statement

()

There is no difference between

the two

(D)

Libel is defamation, slander is

not

In semiotics, a property of signs/
texts which can have multiple

meanings :

(A) Paradigm
(B) Polysemic
(C) Populism

(D) Syntagm
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48. <379 0T 0T QT Y01 AT hTA Lk

e ?

[ oSN

(A) @2, IeAHmRE fafed T el

LN o N

SI3Te] LT ST Sfeted T a1 Lol

TR

(B) Wie, SgATHIGNS dddl aX el

SI3T5] 0T ST fafeet aX a1 sheo

B
(C) =My FEE Tl ATel

(D) e TG ST Bd, fHal Hioard
AT Bid ARl

49. =Rl AL hTe RO - e ATER,

e -
(A) dufe™
(B) Ticiasteh

(C) urgfersH

(D) fadm
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50.

51.

Movies such as The Cabinet of
Dr. Caligari, “Metropolis” and
“Psycho” are examples of films

influenced by which movement ?

(A) Social realism

(B) Neo-realism

(C) Surrealism

(D) Expressionism

Which committee recommended in
1964 the separation of AIR and

Doordarshan (TV) as two

independent corporations ?

(A) Joshi Committee

(B) Murdoch Committee

(C) Verghese Committee

(D) Chanda Committee

50.

51.
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‘g owEHe oATw il wemd’’,

‘Teifere’ ST reRl’ § e shiure

SIS G 3STBL0 3T 2

(A) WIS SReeR

(B) AR

(C) fderea

(D) feRiteTE

1964 |3, iUl WHCH T3 3R
3101 GUERT I S STTeTesI SR
wed famToft el 72l fRreRy et ?
(A) Sef Hfe

(B) #Eleh HiHdT

(C) afte Hfelt

(D) =<1 afyd

28



JAN - 19318/III—C

52. Who among the following is not | 52. GTeACAUeh! hIoT] oY WRHfaeh 31
associated with the cultural studies w Sreen W AR ?
approach ?

(A) = B
(A) Richard Hoggart
(B) TE SR
(B) Louis Althusser
ST ATHEt
(C) Antonio Gramsci ©
(D) David Easten (D) =fae sw=A
53. A non-probability sampling 53. ST S A 1 [ TS
A M AT FNEhRH  Ffadceh
technique that is wused b .

1 Y THaauamenftar  aTWcledn STl
researchers to identify potential q‘&qﬁa—g T 1 = ?
subjects in studies where subjects (A) ¥=q Jwfan (Igfess TS
are hard to locate is called : )

(B) Heite ¥fa (feaydrdt FAas
(A) Random sampling s
(B) Snowball sampling (C) AR FrfeRT (JMeT-3THRa TAaS
RECID)
(C) Quota sampling
(D) fusridire  dmfem  (foufas
(D) Theoretical sampling THAS 95dT)
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54.

55.

Many media organisations carry out
public opinion polls by appealing
people to participate in it by sending
SMS or visiting websites. What
major objection can be raised on the
scientific validity of such research on

the basis of sampling ?

(A) Purposive sampling in such

polls leads to bias

(B) Unqualified volunteer
sampling in such polls leads to
bias

(C) Random sampling in such polls

introduces bias

(D) Quota sampling in such polls

produces bias

In the context of theory of
‘Sadharanikaran’, the concept of

‘Sahahriday’ means :

(A) an ability to perceive a situation

in a unique way

(B) an innate receptivity acquired

through culture and learning

(C) an ability to argue a point in

a logical way

(D)

an innate compassion at heart

for other people

54.

55.
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3T IS a1 JadleAl STaedT aTaeh
o1 V&Rl TH.TH.TH. gR o1 Ja9EegR
=1 SHTd AMEUaHed e gvar
STETEd A, A as=a gar=n
TR 3TN FREATEA SEieR 0Tl ST
Bl IS IhRdl 7

(A) TR AT HeqH TS

ksl S8 B

(B) STUH W=l TY=ges Frehuiaed S
oo g

(C) agfessd =AM fTshs TR
e

(D) arel MeRa TH=Hes Fshutaes S
fmtor g

RO a1 Suaxirean  (fagraren

Heuld ‘weged’ WUN & ?

(A) were! gftfeerdt was(A =vgr=
THHATgAE AR

(B) W&pat smfor fraronqd e ol
frgior Sromd TguTeTHa

(C) TERI HE THISIY  HASUAT
<&l

(D) SR A ESAHE ST Heagl
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56. Which one of the following films was | 56. @Tciicideh! Haan fa=de AR qea At
co-produced and directed by Jabbar wefafHa st foefvia shen, s s
Patel and dealt with, among other Toorried, fommeia Taeifihaen fommr
things, lesbianism ? oI STel ?

(A) Uttarayan (A) ST
(B) Umbartha (B) Soal

(C) Vidushak (C) fogue
(D) Maza Ghar (D) wE

57. Who received the first prestigious | 57. TR e &= dial ArermesRar foa
“Dada Saheb Phalke Award” for SO Yfqss= SEHEs Hidsh JLEhi
Indian Cinema ? HegeH o fe e ?

(A) Pankaj Mullick (A) UHS HicTh
(B) Sulochana (B) airer
(C) Naushad (C) e
(D) Devika Rani (D) faerron
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58.

59.

60.

Which of the following is not the
direct and useful measure to ensure
external validity of a research ?

(A) Conducting a through

literature review
(B)
(C)

Using random sampling method

Conducting a research over a
long period of time

(D) Replicating research over

heterogeneous sample

What condition is not important for
effective communication ?

(A) Command over language

(B) Clear communication objective
(C) Personality

(D) Command on content

In the context of concentration of
ownership on internet what does the
‘Long tail’ phenomenon imply ?

(A) A large number of websites

owned by a single owner

(B) A large number of websites
attracting very high user traffic

(C) A large number of websites
owned by established mass
media owner

(D) A large number of websites
attract very little user traffic

58.

59.

60.
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HYNEATde sfgtia Jear SarauaTe
TR ShIoT & 9 ITFR el 3
L

(A) Hevorfecr=n @ STeEr S

(B) Igfessh TH=TE AT 0]

(C) TN TehT YETH hIcTaLHEY i
TR0

(D) Fgfay TR AieEmE JREd
Eu|

IRUTHRRER HRTIAHIS! Teiel shivrdt gal
3 1Y Iehd @ ?

(A) AEeRid 94

(B) I SfEsereed Tsedn

(C) AfFH™

(D) REEA 9

SIHCTd dAe9Ee HIoTeh =T Tehadl-
IV T * SAiefeseh g’ & FehedH

qEieden] hioral o1 gied wd ?

(A) ThTE HICTHTAT AT STHhTh
EERIEEre e o]

(B) G4 AFAT JeHTgeHer ATaeh =
JoE Aeqeh/aTR & ST

(C) TEeNfyd YR HILH=ATE qIeaTd €y
A JaEeHAlE HIcTeh! STl

(D) TU AT JHRHR ATILh
B qlooh TEQI/aR 30l
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61.

62.

The concept of ‘imagined audiences’

in media is similar to :
(A) Subscribers

(B) ‘Inscribed Readers’
(C) Reviewers

(D) Prescribed listeners

‘Amar Chitra Khata’ and ‘Tinkle’

comics were founded by :
(A) R. K. Laxman

(B) Anant Pai

(C) Mario Miranda

(D) Unni Krishnan

61.

62.
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M gHive, sfEaue (fcud
UTesh) & Thodydl ereTdehl HIoTe

e ?
(A) HershEsH (SRR )

(B) TT%hlzse {ed (HHIfas d1eeh)
(C) Tediord (riterh)

(D) TurEse fauad (fafed &)

“ T FesreRen’ sty foene shifier’ =it
T IO shedl 2

(A) 3. A&

(B) 3fd ¥

(C) #rist fhawrer

(D) 3= FUH

63. When compared with production 63. TEAYATE °1rlq>ilt{“l fraiferaa &
value, the selling price of e FftdEEe Y
mainstream newspaper is always :

(A) *HT 3T9d
(A) Less
(B) S e/ d
(B) More
(C) THM 319d
(C) Equal
D) fAfeed &
(D) Not fixed )
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64.

65.

What is the name of the Act that

governs internet usage in India ?

(A) Cable Television Networks

(Regulation) Act, 1995

(B) Airport Authority of India Act,

1994

(C) Information Technology Act,

2000

(D) Right to Information Act, 2005

Identify the correct chronology of
launch of the following Marathi
GEC’s

(A) Alpha Marathi, Zee Yuva, ETV

Marathi, Star Pravah

(B) Alpha Marathi, ETV Marathi,

Star Pravah, Zee Yuva

(C) ETV Marathi, Alpha Marathi,

Star Pravah, Zee Yuva

(D) ETV Marathi, Star Pravah,

Alpha Marathi, Zee Yuva

64.

65.
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fa hd LN =
YRAArA  (3TALET)  $eSHSAT T

e SIve wEEgR 8ld 7

[N o

(A) e ot

Jead (TIeR)
3, 1995

(B) TR FUREl A% sfean i,
1994

(C) SThIHRM <aHmarst 3, 2000

(D) W& T THIHTH 3T, 2005

IEe TRISI HARSH Al & qroar

I HKIATIRH TN

(A) 3Tl XS, ot 7, § feedt e,
WR JaTe

(B) 31ew H4l, 3 feedl 7iel, W WaTe,
EINRCl

(C) 3 fe=dt T, 3Tehl W3l WR aTE,

EilRell

(D) % fe=dt TS, ©R a8, 3TTh! TS,

EIIRE
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66.

67.

In the context of PR, the most
appropriate way to cope with a
negative event that may lead to

negative publicity is to :

(A) Discourage news coverage of

the event

(B) Deny the event occurred

(C) Hire a new content writer

(D) Facilitate news coverage

What is P. Sainath mainly known

for ?

(A) Writing about education

(B) Writing about agriculture

(C) Writing about science and

technology

(D) Writing about cultural issues

JAN - 19318/III—C

66. STEYHE FEHd, TEE! TehRIcHe: S

67.

M TATST 8% Iehal BlaTesvaTH

~ fa ~ o
IH ggdl kIOl 7

(A) 3 A=A aIaHE B

(B) we+= Al TR

(C) T W™ e e

(D) eieR-T= herell |

M. WEATY AT YA HIMR

HABEe S ?

(A) Toemorfaszes e

(B) FHifaoas e

ORCEEREIURSERIBIEEPEIRSICE!

(D) Wipfaeh YA  oie
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68.

69.

What is the meaning of the term

‘cultural imperialism’ ?

(A) Western cultural aspects are
important for popularity and

progress of media

(B) Western nations dominate the
views and social cultures in the

third world using media

(®)

Ethnic cultures are superiors to

any others in the world of media

(D) Imperialism has nothing to do

with culture as media

A phenomenon involving the
interconnection of information and

communication technologies,

computer networks and media

content is called as :
(A) mass communication
(B) digital diffusion

(C) digital connectivity

(D) media convergence

68.

69.
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‘AT AT Seheundl Y T
6l

N o

(A) HTeHTA TR Qe Sk (Gaden i

e A&t ekl STavaehd]

(B) W= <9 Toehesiial Sem=n
T ST Wi HEehdie]
IR Greled

(C) HEAH A, SefaRTe SEhdie
3T GEhATUe S STHUR Hew™

(D) W&l Uk HITAH AT Gehoudwi

TSI THOM Tae

arrfor AremmIdtaA SIYTE AT=ATAS

ATEIY YA BId ST Gihae

HIUE] G A9l STa 2

(A) SFEIOE (99 HRIFHIE)
(B) fefstea sty (fefsieat fewgsm)

(C) fefsea wumyfiaar (fefeea
ERCEACIC)

(D) HEHH THIHTSRL (HifS FHrosi4)
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70. Which among the following were the

71.

main objectives of the newspaper

‘Darpan’ ?

(1) To educate people with western

knowledge

(2)

Create public opinion for

development of society

Promote Swadeshi

3)

(4)

Promote Swaraj

(A)

(1) and (3) are correct

(B)

(2) and (3) are correct

()

(1) and (2) are correct

(D) (2) and (4) are correct

Which of the following is not a film

JAN - 19318/III—C

70. ‘SO SAHMSTE JE 3fesedl Wetierdent

ol Bl ?

(1) Rodd Tv=ned I deretan

(2) HHST=A EEARIESI GRS Bt A EI Y

HLO

(3) TIf=l AR O

(4) USRI YRR AT

(A) (1) 37for (3) SR 3Ted
(B) (2) 3Mfur (3) sieX 31rea
(C) (1) Mfvr (2) <=} 37T

(D) (2) 3707 (4) ST 3R

71. Wre@ds! w3l aaeei gefed
about news media ? Tt o A ?
(A) Ace in the Hole (A) T = &
(B) Citizen Kane (B) fafesw &7
(C) All the President’s Men (C) sfta & IfaSem A
(D) Silence (D) HFTH
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72.

73.

Which of the following is not
considered to be the significant
characteristic of popular Indian
films in the established discourse of

film theories ?

(A)

Intrumption oriented narrative

flow

(B) Emphasis on dialogues and

verbal communication

(C) Traditional and patriarchial

underpinning to story

(D) Highly subtle and restrained

treatment of narrative

‘Tone of speaking’ and ‘speed of

speaking’ are the examples of :

(A) Non-verbal and verbal

communication respectively

(B) Verbal and non-verbal

communication respectively

()

Only non-verbal communication

(D)

Only verbal communication

72.

73.
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faguefasas gwenfaa  oituuftrs
AT WeUeh! I H&A FaTekiTel
a1 dlehiE WRdE feede & uE
Sfyrseg AHS S A& ?

(A) FIFHET FIIAE WAl HISUT

(B) WEHhdrS gl AT ITSdoles

HAOOMER 9

(C) IRURe a fagammes foemRyoe=

FHIAT AT TER

(D) 3T §&d T Haq TRl

HATTRTET  BIATeSIN

SR &aesel () 9 Serudr=n

I F HIMET I<SeL0 AT ?

(A) 398 3= 9 Tees |eIETE

(B) " WEIE @ T3 ASTaT=d

(C) W A3 HRT9AE

(D) hed 9IS GO
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74. Padam Shri, Asgari Bai is a

popular :

(A) Bharatnatyam Dancer

(B) Khayal Singer

(C) Dhrupad Singer

(D) Kuchipudi Dancer

JAN - 19318/III—C

74, YSHSN TGS HIVHT TSN Heifud

ed ?

(A) sRa-eaw Afdent

(B) I TR

(C) gus Tieht

(D) HHge! Afder

75. What does “Androcentric View” | 75 sfogrifess gftes moS & ?

mean ?

(A) TEuET giteshA
(A) Male perspective

(B) &i=n gftesm
(B) Female perspective
(C) Transgender perspective (C) Hfery <ifirhe gt
(D) Senior citizens perspective D) afs e S
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ROUGH WORK
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